http:/www.termeh.ru/

«[Inockas cucrema cui»
3amanue C.7. Bapuant Ne 22

Jlano:

G=5xkH
a=20cm
b=50cm
c=30cm

Peimienue
YX,=X,+Xz—R,cos60=0
2Y, =0

YZ, =Z,+Zy—G—R,sin60=0

S M, =—G(L§+C—aj—RC Sin60-b+Z, - (b+¢)=0

> M, =G-§+RC sin60-b=0

YM,=R;cos60-b—Xz(b+c)=0
R, - G =— 5 =-2.80 kH
2s1n 60 2 -s1n 60

_Rpcos60-b -289-0,5-50

X =0 s0 oM
R, sin60-b+G(a+b+c—aj

5= b+c

7, = —2,89-0,8;;50+5-30 ~03 xH

Z,=G+R.sin60—Z,=5-289-087-03=2,18
X, =R, cos60— X, =—2,89-0,5+0,9=-0,54 xH
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[IpoBepka, nepeHoCcuM LEHTP KoopAUHAT B T.B:

S M, =G-(%M)+RC §in60-C—Z, -(b+¢)=0

5-50-2,89-0,87-30--2,18-80=0
Y M, =—R;.cos60-c+ X ,(b+c)=0
2,89-0,5-30-0,54-80=0



